Matonofd T

CONZE-ON-2 7

M&&z%

« AX/?’ =2 == gv}*-s— =/¢

= 2T =mne> Sty n)
= x= 2L (M)

2. P S P gzc;%z_/{)—_: O
%

"4 E=%° 22 é&leﬁhk
= A_ r 2
v es-L L,
1

: = 2
2 P’- 1:0.%3 (2>

Wokodaia Cbl=i PREY, ae',adzzé.k
' Dé"c 'ZW 43’ Jr

e
. / > ~ Ol KcAs e
A, /IZIi—kz,Ju [6«3»0«-. w.g;A :
3

3-x a5 T Zsp X Q012 . )




4- Wé‘/[)/% vom X3 - €

Xx = <L~ /L — S
2 ~ !‘t"'é "'2%"‘2

23

¢.r

x= L £ J4-4 =2
Aty Xiex-b _GLI0+3)  xi3
x=ex+y¢  (x-2)¢ T Y&

- S - x
i 2
vz, ;
5. Q < nF Mé bt !
3
m&«ao—%ﬁ :
e R4 = a%+ 2-3-?-@8(20’)

= A=z [F e |



Z)k(S’x
x X e

< c3x)> en(6). S-n) — 5V 2

>( 1 W)™
3
2. (x%1) 28 = x%1 <£Ys
—> K¢ Ys-4 ¥ il
@ﬁ":EVz "')'f?"w ‘
£ @05404#%

I )<~l—c I \ﬁ( 4~47'7

) *4‘




A0

u- o () £ 43 n +e"

1+73

2
n Z
A

4+

(@




12

(¥ v 3T LJQ,L(S’JZ\M@’»ALZ
@

0 01'(‘ '+

@
1 0263 +5253
2 2 &2

ELx"]= 0501 0%

gy,

+-<0,s-93+c>,:-0,?>-42
+0&£.03-2%

— O
+ Os

= A1



